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/ 2) If ✓ = ( a. b) then
,

since 2s is a field

we can divide by a (if a -1-0) to abbey

i :(1. Ha)

But then if p= ✗ tsv they

p= ✗ + ⇐ a) J as well
.

And vice-versa
.

(3) Four slopes : 0,42, 00 ,



14 ) Facer lines thru origin, one for each slope ,

I 5) Four points at oo
,

one for each slope

9+4=13 point total in 12, P ?

I 6) Two additional lies parallel to each Kae ie (Es) ?

17) 3 . (4) = 12 lines in 2
,
P2

↑
parallel hues Add one lire at infinity
c.pi
!

they far 13 lines in Esp ?

( 13 points, 13 lines
, duality ! )
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By staring, axioms 1,2 are clear .

For four points, no three colihew
, use ( 0,0)

(Osl) & %
4,0) ↑Cbl)

lower left
corner

,

19)

:.!÷
Two lines Kt

intersect twice

→ 0 ? D


